i
I
T
Tl
P=ai
I

1. ¥4
kB4 [EE 9 /MR M X B AR L R A B 5T 3675
AT T AT N AR X VGABG A NE T D AE) RTS8 0 8

2. ¥HENRE
WESEE AT AR R

1) FH4
2) JEATHIR 234 HIH H 4% 64 7THI0H
E S T4 2H28H

3) BB
AYEESIE, [E3H 9 BT /AR B I B\ L TR

MIREE, EE ARG 2170 2 2 HML T2 ¥B Th 5,

4) EHBNE
BRI EE 15K BRI EE 150

EtrEE T R



¥F4 | EE 9 B/ X BRI R R B 3 ER i EHES
H H MR E R
B E I % i 3 B {7 ¥ & & #A AW BN RR
RS R R =X 1 7,182, 962
EARIL AR = 1 7, 182, 962
AR L EE MR = 1 7,182,962 | EARILEIETEAIGRE
(1 )1 (&) 20
s i e &t =X 1 559, 560
TE K R A it B B 2V 1 559, 560
JH R R R i oy 1 559, 560 | JH H& AR AR R T
1 =
BisST] = 1 807, 100
il BRETED) 2V 1 807, 100
e = 1 591,500 | A
1 =
ZDfh 2V 1 88,400 | A [FIHL H kAL
1 [A]
AN E I L D HE
1 [A]
A BR A T ERK = 1 127,200 | ZABERE B AL VERL
1 eSS
[ERETES = = 1 454, 975
[EReE 3 = 1 454, 975
R EE = 1 52,975 | k% (FEF+ L - fEiRdm)
1 =
BT R SRR X 1 402, 000 | B SIERE
1 =

-1- EtrEE T R



PN

%Lljll
I

¥F4 | EE 9 B/ X BRI R R B 3 ER i AR
H B EREEAM (DM )
THH - TfE - FE5 B {7 & & A OB N R
ERFEM (ZOMFEMER<) =X 1 9, 004, 597
Z O JFAf = 1 4,528,131
— A = 1 7,287,272
SEVS A X 1 20, 820, 000

-2 - EtrEE T R



